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Number

Students review reading, writing, and representing six-digit numbers with the use of
an abacus and other tools and models.

Later, students extend the skills and strategies they have used for six-digit
numbers to read and write seven-digit numbers, and use relative position to locate

Glossary

seven-digit numbers on number lines.
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system. In turn, this may
help students avoid feeling

intimidated when solving
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problems involving numbers
with seven or more digits.

In this lesson, students use relative position to
locate seven-digit numbers on number lines.

Students then progress to reading and writing eight- and nine-digit numbers with
the help of numeral expanders.

Where have you seen eight- or nine-digit numbers recorded?

What place values are seid when you say a nine-digit number?
Complste the number name below to show how you read the number on this expander.
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‘Write it on the expander. Then write the maiching numeral below.
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In this lesson, students read and write eight-
and nine-digit numbers.
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Algebra

« Students learn that the order of numbers will not affect the answer in addition or
multiplication equations, but will affect the answer in subtraction and division.

- When [ add three But I don't get the same
numbers, [ can answer when [ subtract

work in any order. in different orders.
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L0+ 25 + 10 L0 - 25 - 10

« Because of these differences, there is an established order of operations
to follow when solving problems that have more than one kind of operation, like
7+ 8x2-1.Insome cases, parentheses are used to clarify the order in which
operations should be completed. The previous example might be rendered like
this: 7+ (8 x 2)- 1, or (7+8)x 2 - |. These two expressions give different results,

22 and 29, respectively.
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I you chonged these expressions to equations,
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arsuer? How? of operation in an expression,

Look ot these word problems.

In this lesson, students learn about the need for parentheses to follow the order of operatlons

indicate the order In which the operation(s) Is/are to be completed. from left to right:

« Students practice the order of operations with real-world situations such as, “We | perform any operation
bought five sandwiches for $3 each, and one bag of chips that cost $2. How much inside parentheses
did we spend in all?® 2. multiply or divide pairs

of numbers

3. add or subtract pairs
of numbers.

» An expression is a combination
of numbers and operations
(+, =, %, 7) that do not show a
relationship (=, <, or =),
eg. 5x8 orkO+6=2.
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